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This happens iff there are integers

i
, ...,
in such that

1i , iz ... Thi n
tsuch that the above equations () hold.

integers how to

subdivide T ... On into subwords



Hence to decide whether or not

-

D. -. In lies in L we can "guessj

(by a non-deterministic T.m]

which of 2, ..., h should lie in

Ein
, insing El-emb
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and then

run a non-deterministic algorithm,

M to check

① if WiW.... Di
,

lies in L
and

② if we Wi-- - Tis lies in L
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If M runs in time Ch" on an input

of size n
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decides in time & Cnt
.

Since I n

we require time ? In"n - Cnk+

to test membership of each of













(3) If a
,
o an : T ,

then we can

satifyf by taking
7 = 72 =
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= zny = f
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has the
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Similarly ,

if
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Similarly ,
if ai=T with

31 if n - 2 we can satisfy f
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finally ,
if a v .. van-F ,

then

9: 97 ... An-F ,
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.







plus some overhead.

We similarly find at for i = 3
,

4

, -, h

such that

flay--e
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is satisfiable. We wind up with

a
1 , ...,an=Tif such that
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is satisfiable
,
and since this expression

has no variables
,
this means that
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This takes time 2Ch" . n : 2Cn*

plus some overhead which is clearly

polynomial time.


